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- JoU1 J1gu]

An integrating factor of the following linear

D.E((e*-2V x/ ¥ X)-(y/+/ X) X" =1

aiff 1




TURI©

Conbinuous change

: LI J1Guwl
the order of the D.E
x=((dy/dx)+(dy/dx) +(dy/dx)’..+(dy/dx)  )*(dy/dx)

is equal

UL J1§ul

A solution for the LV.P (dy/dx)=(1/(e*y)-x) ,y(1)=0 is.

Pl JIgull
the D.E whose general solution is cos(y-x)=e”-x ,
(where c is arbitrary constant ) is

:(po W1 J1guall
the largest interval for which the LV.P:
Y'+(Y/Sin(2x)In3y (3-1)22)=x,y(-1/2)=3 has a uniqe
solution is

aiff 2




;oW Jiguadl
Determine a function M(x,y) ,so that the D.E,
M(x,y)dx +(x Inx+(Inx/y))dy=0, x , y>0

)l Jiqu
if N(x,y)-M(x,y) =2y*2 M(x,y),then the solution to the
D.E ,(M(x,y)/Secx)dx)-(N(x,y)/y)dy)=0 ,y>0 is




.ol Jlguall
Solve the D.E xy'=y(In3y y-In3v/ x), x,y>0

2wl Jigull
Solve the D.E (dy/dx)+x+y+I=((x+y)"2)*(e”3x)




: polall Jlguall
if (dy/dx)=sin(t)*(y*2)*(e”cost) ,y(0)=4e"-1 find
y(T1/2)

diff 9




e Cel=ll J1gu)l
the equation y'+p(x)=sin”*2(x) ,M(x)=sin(x) find p(x)

;e LJ.)l.LlI J1gull
xM(x,y)-yN(x,y)=0 on the folllowing is a solu
of M(x,y).dx+N(x,y).dy=0
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diff 10




e GJWI J1gull
if (N(Y)-M(x,y))/(M(x,y))=y"2 then
(M(x,y))/x.dx-(N(x,y)/y).dy=0 , find the D.E?

aiff (L




e wIPl Jiguadl
Find the equation (solve) :-2(1+x+xy*2)y'-y=y”"3

y Al -
=2 (V47X YN i

pire (ol Jlgul]
(solve) (3y*2+2xy).dy-(2x-y*2).dx=0 ,y(1)=1 find y(0)




L e (woludl Jlguadl
solve the L.LP.Vy*2y'+cosx.y*2=cosx ,y(Tt/2)=2

diff 15




e Wl J1gu
solve y.dx+x.dy+y”2(x.dy-y.dx)=0

aiff 17




;e Joll Jigull
y'=xA3(y*2+x”2-2xy)+(2/x) ;substitution is
u=y-x,solve it

e el J1gual
the general solution D.E xy'=y(Inx+Iny)

: Jopnall Jiguall
find the general solution of the D.E:-
((5Y"2)-xy+(y”3)*(siny))y'+xy”3=-y"2

diff 18




TURI©

Conbinuous change

: Jguinll g (5oLJI Jigull
solve :- (1+x*2).dy-x(3+3x*2-y)dx=0

:Jgpinellg Ul J1guall

solve :-(sin(xy)+xycos(xy)).dx+(1+(x*3)cos(xy)).dy=0

:Jopuell g SJWI Jlguall

if M(x,y)=(1/(x*2+y”2) is an LF of the D.E :-
y.dx -(y*2+x*2+x).dy=0 , find the general solution

. Jopnalig P! Jiguall
solve :-(xy).dy -(x*2+xy (x*2+y~2)).dx=0

:J9pellg (ol Jiguall

an integrating factor :-(3x*2).dx+(x"*2y-x).dy=0 ,is

aiff 21




TURI©

Conbinuous change

: J9llg (oolwal J1guadl

the most general function N(x,y)that makes the
following D.E exact is given by?? N(x,y).dy+(sinxcosy-
xy-e”(xy)).dx=0

: Jopnall g ! Jiguall

the general solution for the following exact D.E
(sinh(x+y)+y”2e”x).dx+(sinh(x+y)+2ye”x+1).dy=0 is

:Jounellg oWl Jlguall

the ralation x*2-cos(x+y)=3 defines an implicit solu
of one of the following D.E , this D.E is

: Jopnelig el Jiguall

find the general solution to the D.E
(x+2y+1).dx+(3x+6y+2).dy=0

aiff 26




95D J1Gul
solve the LV.P (dy/dx)=v (x*2y)+(1/X)y , y(0)=1,x>0




109G (5oL JIguull

find the largest interval on which you are sure that
the following initial value problem has a unique
solution :-v (x-1)y'+(cosx)y=cscx ,y(2)=3

B 0 |Cosv)§ =CRCX.

diff 31




: JgUllg L,.)l.l.ll J1gull
consider the VP :-y.dx+(y*2-x).dy=0 ,y(2)=1
a)find the integrating factor of the D.E
b) solve the initial value problem.




- Jo5Dg CUDI J1guw))

using a suitable substitution transform the D.E

(cosy)y'+x(siny)=3 into a linear equation.




:JgUlIg wIPl Jigull
consider the non-exact D.E :-

if (Py-Qx)/p=3 .find an integrating factor to
pP(X,y).dx+Q(x,y).dy=0

:JPUDIg ol J1guall
if you know (u=dy/dx) , find the value (A)in (u=3y y)
,use [VP,y(0)=0 ,y(3)=8

aiff 34




:JP UG (oWl J1guadl
solve :-e(dy/dx)+2e"2xy=x"2

:J9PUDIg Wl Jiguall
solve :-(1+2xy+x"2y”*2).dx +x*2.dy=0

aiff 36




. UIg oWl Jigual
if M(X,y)-N(X,¥)/N(x,y)=X, then the sol to the D.E
(M(X,y)/x).dx-(N(x,y)/y).dx=0 ,x,y>0




: UG el J1guul
the values of m,n that make the D.E
2V x(x-2y)*m).dx-(x*3-2n-5).dy=0 homogeneous are




: JgJUl Jigul]
the solution of the D.E y'=x"2+2xy+y”2-1

> JgUig (5ol Jigull

for what the value of (k) is (x*2+y”2)"k an integrating
factor for -y.dx+x.dy=0

aiff 40







:JgjUlg S J1guul
show that if y1,y2 are solution of the linear equation
of order (n), L[y]=0 ,then clyl+c2y2 ,where cl,c2ZER
Jis also of L[y]=0

diff 42




: JgjUig Al Jiguadl
find the general solution to the D.E :-
-2(1+x+xy*2)y'-y=y"3




: JgyUig P! Jiguull
find the largest interval for which the VP :
y'+(y/xIn(e*x-3))=x , y(In(3/2))=4 has a unique

:JgwjUlg oWl Jiguall
consider the D.E :M(x,y).dx+N(x,y).dy=0
if (My)*2-(Nx)*2=cos(x)(My+Nx)N(x,y) and cosx>0,
(My+Nx)# 0 find the integrating factor of the D.E ??

aiff A4




: Jg)UIg (ol Jiguull
the suitable substitution that transform theD.E :-
yeM(xy)(dy/dx)+xeMxy)=12y*2 ,x,y>0 , into a
seprable equation is ??




:J9jUIg Wl Jiguall
(M(X,Y)-N(x,¥))/(N(x,y))=x, then the solution to the
D.E :-M(X,y)/x).dx-N(x,y).dy=0 ,,x,y>0 is??

. JgwjUlg ol Jigual

classify each of the following equation as to :-
separable, homo ,exact ,linear and bernoulli ?
a)(dy/dx)=(xy*2+x-y*2-1)/(yx*2+2y-3x"2-6).




b)y'=1/(x(x-y))

C) y'-5y=4+y"2

A)(1+x*2).dy+(Xy+x*3+x).dx=0

diff

48



TURI©

Conbinuous change

. J9)Uig auw il Jlguul
solve y'=(2x+cosy)/(xcosy+2y+1)

. Jguodll Jlgquall

find the integrating factor of the differential
equaltion (yx*3+2x*4-4y).dx+(x*4+2x).dy=0

: Jgun3lig (5oLl Jiguall

using a suitable substitution to transform the D.E:-
(2x-2).dy-(2x+y).dx=-y.dy into a separable equ
the resulting equation is given by:

: Jgundllg Sl Jigual
let y(x) the solu for the D.E (y-xe”x).dx+
(x+2).dy=0 ; x>-2 with y(1)=3 ,find y(0)??

diff 51




TURI©

Conbinuous change

: Jguanidllg CUwl Jiguall

the best substitution to transform the D.E:-
(x*3-yx"2)y'+x=0 into linear equ is given by

:Jgundlig wipl Jiguull

let y(x) be the solu for the D.E:-
y.dx=(xy-2y”2).dy=0 ,if y(1/e)=1 ,then at x=-2 the
value of y wil satisfy ?7?

: Jguandlig (paolil Jiguall

when using the substitution u=yx in the D.E
(X*3y"2+xM2y+x).dy+y(1+xy).dx=0 the resulting
differ equa will be

. Jguodlig (wolwl (Jiguull

using thesuitable substitution to transformthe D.E :-
y.dx+(x+y/ (xy)).dy=0 into separable equation the
resulting D.E will be

diff 55




TURI©

Conbinuous change

: Jounilig syl J1guwall

find the value of K such that the substitution u=y/(x”k)
transform the D.E:-
(YA2+3X*4).dx+(5xy.dy=0 into a separable equa

:(Jguanillg (oWl Jlguall

find the general solu to the D.E :-
(sin2x+2Iny).dx+((2x/y)+ye’y).dy=0

: Jguandlig aw il Jiguall
solve (xy?2-y"2-x+1) y'+y +x +xy=1 | yF-1
:J9iudl J1§u]

find a suitable substitution to transform the D.E:-
(Y'/(1+4y*2))H(x*2-tan”™-1(2y))/(x+1))=1/y into a
linear equa ,then find the resulting linear equa.
(don't solve the equa)

aiff 59




TURI©

Conbinuous change

> Jgiulig oWl Jiguall

if M(x)=e”h(x) is integrating factor of the linear D.E:-
x(dy/dx)-h(x)=sin(x)-x*2y then the function h(x) is
given by

: Jgluwll g U.)LIJ] J1gull

(yer(x/y)).dx -(xe(x/y)-3y*2).dy=0 ,y+0 ,is it possible
to solve the equa using the substitution u=x/y, if yes
find the general solu, if no find another method.

: Jeiuwig CUli Jiguul

find the values of K and B that make the D.(E :-
(1/x*2+2)+(K/y)).dx+(xy*(3B)+1).dy=0 an exact

aiff 63




TURS®

Conbinuous change

: Jginlg Pl JIgul

solve (((siny)/y)-2e”).dx+((cosy+2e”-2xcosx)/y).dy=0
Hint :try an LF of the form M(x,y)=ye"x

. J9ullg (paoil (Jiguall
solve the following L.V.P:-
a) y*2y'+costy”*3=cost ,y(T1/2)=2

b)xyy'=x"eNy/x)+y*2 ,y(1)=2

: Jeiulg gualudl Jiguad)

find the general solu for:
e™(y)y'-(e”-x)/ (x*2+xy)+e”y=0

:J9iulg oludl J1gudl

show that the differ equa y'=f(x,y) is homo iff
f(tx,ty)=f(x,y)

aiff 66




TURI©

Conbinuous change

: Jgiulg Jolil J1§ull

show that the if (Nx-My)/(xM-yN)=Q , where Q
depend only on the quantity xy ,then the differ equa:-
M+Ny'=0 , has an LF of the form M(x,y)

give the general formula for this integrating factor ??

: Joiu)lg ouwlill J1§uul

if y(x) is solu to the D.E :-
xy'+(2x+1)y-e*-2x=0 ,with y(1)=e”*-2 find value of y(2)

- Joouu] J1Gu]

find the value of B so that the substitution y=vx*B
transform the D.E (x+3x*2y)y' +xy”2=y into a
separable

aiff /1




TURI©

Conbinuous change

:Jgaulig ol Jiguall

find the general solu to the D.E:-
(Y 2eM(xy”2)).dx+(2xyeN(xy*2)).dy=0

L J9ouulig (SWl Jigull

find the general solu to the D.E:-
y'+2x-2(x"2+y-1N)™(3/2)=0

: J9=uwadlig AW Jiguadl

if M(x,y)=1/(x*2-y"2) is an LF of the D.E :-
(x*2-y*2-y)-(x*2-y*2-x)y'=0 . then the general solu is
given by

> g9aundlg @1l Jiguwll

find the integrating factor of the D.E :-
e x(x+)+(yey-xe”x)y'=0 ,then find general solu??

Aiff 74




TURI©

Conbinuous change

: J9ouwwlig oWl Jiguadl

using the suitable u=xy for the D.E :-
X(xy-D)"2y'+(x*2y"*2+1)y=0

: J9auulig (oludl Jiguall
find a substitution to transform the D.E:-
(x*2-1)y'+xy-3xy*2=0 into a linear equa then find the
result linear equa (don't solve equa).

: Jgounlig eyl Jiquall

find the value of the D.E :-
dy=((1/x)-(1/y*2+1)-(1/x(y*2+1))+1).dx

: Jg=uwlig Jolwl Jlgual

find the general solu of the D.E:-
X(2x-y*3)y'-y*=2xy

aiff 78
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